HENEREREES i
SHM4F11H28H (H)

6:550) (81 @ kg )
pHE i miEH o2 = B Z B " =

S 238 RIS 667.6 404 20
<IN 373.8 43 20
Iy 244.2 89 37
£S5 4,180.2 1,159 409
AABFHLA 1,161.9 1,143 109
JUALA 150.4 1,368 21
LFLA 1,531.2 623 20
TFELSHLA 212.3 1,600 398
=RHLA 312.7 521 20
HLA 490.1 753 181
RaAHLA 95.7 739 136
HSABLA 24.8 46 20
2 N85 20.1 80 76
2007 351.2 288 21
FAALY 43.8 1,856 710
<7+ 100.0 1,659 1,000
<91 1,831.9 966 140
St 160.0 4,000 1,143 Lo 0
FHA 5,157.5 339 20
TVAVTAFA 134.9 466 30
F7>0 1,254.9 1,259 239
HFHZS 1,024.1 80 20

I 19,523.3




[f¥fa] (BT ¢ kg )

pHE i miEH o2 = 1B Z 1B " =

S 238 FWRA) UL 21.9 1,000 26
TAF A 66.4 1,361 141
Z2F 316.7 590 101
> 3YA 72 194.4 639 230
FHALY 28.3 6,156 201
e INY 49.5| 35900 | 13,690 [5- 0"
AADFASFE 106.4 1,495 200
HHEHA 92.9 109 20
JESHAA 276.3 151 20
HF A 221.1 801 123
IR 123.7 919 69
< koA 434.3 500 23
AAHYT 42.0 1,110 o8
IYRSERF 28.6 376 331
S5 hRF/ A 47.0 789 419
FFITIRS 34.7 789 738
ZILAA T3 47.9 1,200 360
ZILAA FIE 130.0 7,470 1,800 |G 2"
TUAH 407.9 869 219
7L 978 295.0 4,144 2,099 [gin
> RUA 7 86.1 364 201
=241 53.7 919 519
TFES ] 522.8 750 109
AFF<3 121.6 1,600 1,000

CHE 23,272.5




[f¥fa] (BT ¢ kg )

pHE i miEH B = = 1B Z 1B " =
EERFME 45% |TU 143.6 159 61
ESX 62.8 1,875 256
=N 65.4 345 20
<A 39.7 830 111
HFHTS 112.4 59 23
8905 60.1 1,616 1,100
RZF 354.7 720 160
JEZHAN 23.7 103 20
SFIA 267.4 2,239 819
RORD 34.8 1,300 419
<IF 69.2 1,100 419
HY= 652.3 2,200 369
BTl 6% Ry FHA 1,944.2 654 300
ho 22% ESWYXHZ 44.6 1,000 169
HY= 23.4 1,600 369
EXTVRS 86.8 239 193
aitiE 3,985.1




(B : kg)

[i&f]
pHE i miEH B = = 1B Z 1B " =
HE 23% ESX 81.0 1,500 1,300
<7+ 107.6 1,600
TAF A 31.7 1,600 500
EERFE 458 |ESA 495.7 2,500 800
~IAHLA 32.3 1,500 500
RZF 207.9 700 500
NS0 57.2 4,000 1,500
<IF 26.1 1,400 300
o 22% <453 599.6 1,600 1,000
CHE 1,639.1




